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5DQFDQJDQ� 6WUDWHJL� .RPXQLNDVL� 3HPDVDUDQ� 7HUSDGX� XQWXN�

PHQLQJNDWNDQ�WUDIILF�7HPSR�FR�WDKXQ����������

,QGXVWUL� SRUWDO� EHULWD PHUXSDNDQ� VDODK� VDWX� LQGXVWUL� \DQJ� GLDQJJDS�

PHQDULN� GL� ,QGRQHVLD�� GLWDQGDL� GHQJDQ� EDQ\DNQ\D� SHPDLQ� EDUX� GDQ�

SHUVDLQJDQ� PHUHEXW� XQWXQJ� GL� LQGXVWUL� \DQJ� NHWDW�� 7HPSR�FR� VHEDJDL�

VDODK� VDWX� SRUWDO� EHULWD�� GDODP� NHORPSRN� VWUDWHMLN� PHGLD� RQOLQH�� KDUXV�

NUHDWLI� PHQFDUL� FDUD� DJDU� NRQVXPHQ� PDX� PHPLOLKQ\D� GDQ� EHWDK�

PHPEDFDQ\D� VHFDUD� EHUXODQJ�� 'HQJDQ� SHQXUXQDQ� KDVLO� NLQHUMD� \DQJ�

GLWDQGDL� GHQJDQ� SHQXUXQDQ� SHULQJNDW� GL� $OH[D�� SRUWDO� EHULWD� PLOLN� 37�

7HPSR�,QWL�0HGLD�LQL��KDUXV�NHUMD�NHUDV�PHQFDSDL�WDUJHW���EHVDU�

3HQHOLWLDQ� LQL�GLODNXNDQ�EHUGDVDU DFXDQ�SHQ\XVXQDQ�6WUDWHJL�.RPXQLNDVL�

3HPDVDUDQ� 7HUSDGX� .RWOHU� GDQ� .HOOHU� GDQ� NHUDQJND� SHQXOLVDQ�

PHQ\HVXDLNDQ� PDQDMHPHQ� VWUDWHMLN� )UHG� 'DYLG�� 'DUL� KDVLO� DQDOLVLV� WLJD�

PHGLD�RQOLQH�\DQJ�PHQGDSDW�SHULQJNDW�WHUDWDV�GDQ�����VDPSHO�SHPEDFD�

PHGLD� RQOLQH�� GLGDSDWNDQ� WLJD� DOWHUQDWLI� VWUDWHJL� 6WUDWHJL� WHUSLOLK��'HHSHU�

6QRZEDOO�PHPIXVLNDQ� PHGLD� WUDGLVLRQDO�� PHGLD GLJLWDO� GDQ� PHGLD� VRVLDO�

XQWXN PHPEDQWX�7HPSR�FR PHQFDSDL�VDVDUDQ���EHVDU�GL�WDKXQ��������

.DWD� NXQFL� �� .RPXQLNDVL� 3HPDVDUDQ� 7HUSDGX�� )XVLRQ� 0DUNHWLQJ��

7HPSR�FR��,QGXVWUL�3RUWDO�%HULWD��0HGLD�2QOLQH��$,6$6��$OH[D


